GROUP F

: o
554 i
20 2o Q Q
< < Q
EEEC <
<<
w= Wy w <
o 5 -
orxox o
ZF Z2~ >
2 <2 Z e
Z0 20 Z (V)
QQQQ 2 . o
EmEm oz m [
SE 3IE =0 — LL
< < - O
2328 25 S o
z929 o5 O H
oXe f 259
2 DO
Q8 &
]
wB
Ao
5o 3
o
=
SahT e
~
23
o
—
jaa]
©
<
~

REVISION: G-7989-C
DATE: 4/25/06



EXPLODED VIEW: ENCLOSURE C1 CPL

DRAWING #: 0F7356
APPLICABLE TO:
ITEM PART # QTY. DESCRIPTION
1 0F7003 (XX) 1 ROOF C1 CPL
2 0F7004 (XX) 1 CORNER POST LH SIDE C1 CPL
3 0F7008 (XX) 1 DOOR REAR C1 CPL
4 OF7005 (XX) 1 CORNER POST RH SIDE C1 CPL
5 0F7007 (XX) 2 DOOR LH & RH SIDE C1 CPL
6 0F7006 (XX) 1 DUCT FRONT DISCHARGE C1 CPL
7 0C2634A 1 ASSEMBLY COVER ACCESS
8 0912970091 1 ASSY WIRE 14AWG 13.8" GRN/YEL
9 0912970090 2 ASSY WIRE 14AWG 33.5" GRN/YEL
10 OE5968 1 GASKET EXTRUDED TRIM (356" LG)
1 0E3257 6 SCREW HWHTF M6-1.0 X 16
12 077992 18 NUT HEX LOCK M6-1.0 SS NY INS
13 0F5049 3 TAB PULL
14 0F5048D 3 VISE-ACTION LATCH SLOTTED CIR
15 022473 1 WASHER FLAT 1/4-M6 ZINC
16 022097 1 WASHER LOCK M6-1/4
17 022127 1 NUT HEX 1/4-20 STEEL
18 0C2454 24 SCREW THF M6-1 X 16 N WA Z/JS
19 078115 20 WASHER SELF LOCKING DOME
20 0F3890B 2 RETAINER INSULATION (820)
21 0F3890 4 RETAINER INSULATION (450)
22 0F7365 2 INSULATION SIDE DOOR C1
23 0F7365B 1 INSULATION REAR DOOR C1 CPL
24 OF7365A 1 INSULATION ROOF C1 CPL
25 0F8869D 1 KEY VISE-ACTION LATCH SLOT CIR

REVISION: G-7989-C
DATE: 4/25/06

OPTIONAL COMPARTMENT MATERIALS:
ALL P/N’'S WITH AN (XX) SUFFIX INDICATE A MULTIPLE MATERIAL AND COLOR OPTION.
USE THE FOLLOWING LEGEND TO IDENTIFY THE CORRECT PART NUMBER:

PART NO. MATERIAL COLOR
OXXXXXSN STEEL TAN
OXXXXXAN ALUMINUM TAN
OXXXXXSG STEEL GRAY
OXXXXXAG ALUMINUM GRAY

** ALUMINUM ENCLOSURE NOTE: ALL ENCLOSURE PANELS THAT FASTEN TO

THE BASE FRAME MUST BE SECURED USING ITEM 18 & 11 THREAD FORMING
FASTENER AND ITEM 12 LOCK NUT. LOCK NUT IS TO BE INSTALLED AFTER THREAD
FORMING FASTENER HAS PENETRATED THROUGH EXTRUSIONS IN

ENCLOSURE PANELS. ALL ROOF PANELS ARE TO BE SECURED IN THE SAME

MANNER.

GROUP F

PAGE2OF 2



